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o Let x, voand 2 respectively, be the mean, median and mode of a negatively skowed

duta set. Then the relationship betwesan & y. 2 0%

A xene R} %< ¥z C} x>v-z [0 sy

.. The median of the daga &, 16,9, 7, 5, 11, 18, 14 is:

AVE By @ ) 108 D None of these

. 'The mean and variance of a data set are 12 and 4, eespectively, I 4 i added to suach

data valuz then the mean and sandard deviation. respectively will be:

Ay 6 amd 4 By 12 oend3 C) 12 emd 8 DY leand 2

. Thece unbiased dice asc thrown simultancously. The probability that exactly tea will

show even numbers on the upper face is:

A} 3R B L2 £) 144 o) 18
. The Poisson disteibution is;
Al Semmetric B Positively skewed
) Megatively shewed 12} Log skewed
The variance of o data et is 36, If each data value is divided by 3. then the standard

devialion will be:

Al G By 2n )4 By 2
The value of coefficicnt of kurtosis (B:) of Gaussian disyibution is:

EARY Byl ] 3 B} -Zor-2

It is known that 1% items producsd by o (o are defective. The probuability that there
will be exactly on defective item in o sample of five items produced by ths firm is:

A) 32K B) 672 Cy 0636 13y 934

One ticket is drawn randomly from 2 bag containing 10 lottery tickets which are
numbersd from | o 10, The prabebiliey that the number on the Gickel s even or a
mulliple of diree i3

AY Al By 31D 1 810 £y 7o

The mean, mode and standard deviation of a data set are 12, 15 and 3 respectively.

Based on this informetion, the distribimion associuted with these data sel s expecied
tev bz

A Symmetric B Plalykurtic
) Negatively skewed 1) Positively skewed

Let A and B be twe independent events in a samphe space 8§ such that P{Ajy- .3 and
PI0) = .5, Then the value of P{ ALB) s

A) 80 B .13 Cy 95 Ly 68



15, Let I be the population proportion of smokers in a region, Let in o sample of n
individuals selected from this region, s random number, sav X, are atokers. Then
[ oem 25 an estimetor of P js:

A) Dased B} Linbiased
Ch Consistont ¥ Cansistont and Unbizssed

e following data represent the frequency distribution ol daily wapes of workers in a fimm:

Winge Group: SO0-T30  750-1000 1OM-1250 1250-1500 1500 and above
Mo, af wnrkers: [H |5 12 8 a

Lise this informaticn 1o answer gueations 13 and 14,
3. The must appropriate measure of central rendency for these dara is:
A Anthmactic Mean B Median ) Narmonic mean D) Geometeic mean
14, The mast appropcian measuee of dispersion for these data 1s:

A% Range By Mean Deviation
L) Cmarsile Deviatiod ¥ Standard Devigtion

I5.Let |' be an unbiased cstimaror of parameter & and F be the class of all unbiased
estimators of 8, if Yariance (T} < Variance (%) for all § in F. then estumator T is

callad:
A SuMicient B} Variance Bounded
o Umidormiy unbiased 171 Minimum Varisnoe Unbiased

L, A sample of two irema was drawn from e lol conlaining 4 good and 2 bad Sems using
simple randam sampling without replacement. The probability that sample contains
ane pood and ene pad item is:

A} B B) 4/43 Yy 13 Dy 225

17. The sum of squares of deviations of data values is minmum when the deviations are
taken trom:
A} Median [ Mode 1) Mean D} Harmonic Mean

18, Let the consumier price index of workers in an area is 400. The purchasing power of
ome rupee s compared to buse period will be:

A} d1imes higher B) Reduced to 152
) Remains same [ Reduced ta 154

19, The mean deviation of a data s¢1 is minfmum when the deviations are taken from:
A Maode 3 Mladian 1 Mode ¥ Geometric Mean

20 In one way ANCY A, there ore six daia values of monthly sales under each of the four
atvertising methads. The degrees of freedom associated with the error are:

A) 3 B) 23 ¢y 20 D} 24
(2



21.

24,

Tl
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26,

A,

L

Vhe errar in ANCWVA is the variation in the dita duc o:

Al Missing values B Mizstake by investigator

LAl assipn sources £ ALl Unassipnahle Sources

The values ol hoth the regression coefficients in a bivariate repression analysis are 7
and 1.7, The value of Karl Pearson's comelation coetlicient is:

Al B4 By 91 C] =91 3 -84

. The value of pat wliich the function fip) = &pi L -p} allaing the maximum value is:

Ay 142 Hj1:4 ) 34 ¥ More than |1

The distribution of the test statistic wsed W test the independence of atiributes is:

Ay 7 B} Student’s t C),.F 0¥ Chi-sguare

o The distribution of the test statistic used o test dic hypothetical value of the mean of a

normal distribution, when the variance is unknown and sample size is small, is:
Ay £ B) Student’s 1 () F 13} Chi-square

A sample of three items was drawn with replacement from a lot containing 4 bad and
6 good items, The probability the sample contains two pood and one bad irems is:

A 144 By 288 )43z D) 568

7. Lt 0 be the population proportion of an attribute it a large population and p be its

tinbrased extimator based on a sample of sizen. The standard deviation of p is:

i Bate By nh(i-8) C1 01 -Ayn] D} [0r 1-0)n] ™

An experimenter decided to earry oul the snalvsis to see the effect on sales of a

company due i fonr adverting methads in six different sale regions by taking oae
value of sale corresponding (o cach of the twenty four combinations of advertising
methiond und the sale region. The degress of freedom associated with the crror are:

N By 15 o s

. The pumber of cemponents in which total variation is separated o two way ANOVA

with cme abservation per vell is:

Al Dae By Two
) Thires [Yy kgual o ceror degrees of reedom

Suppose dieres s nol much variation among sampling units of 8 finite populetion with
tespet te the charscteristic under study. Then the more appropriate sampling scheme
10 select 3 randoin sample is:

A) Systenatic R Simple random ) Cluster L3y Strulified

Twar stege sampling is a compromiss between the samipling schemes:

A) Systemalic and Simple Random B) Simple Random and cluster
C7) Systematic and Stratifed B Chuster und Strutificd

{3}



The vilues of Karl Pearson’s correlation coe(Tictents abtzined from a tri-variame dara st
are rg =, bz fy =50 Ve this information to answer questions 32 and 33

32, The value of partial correlation coctficient ra 5 Is:
AY A5 By 2425 ) .392] 1) 24941

33 The vaive of mukiple correlation coelMicicat R 22 i3

Al T2 B] .52 (e L [ 2423

34, A time serics invalves annual data. The compenemt of the time series which cannal oo
estimauted from these daca Is:

A Treed B Seaszonal ChCyelic 13} Cyvelic and scasonal

o The deithmetie mean of First 0 oamocal dumbers 15

1al
Ln

Al (n=1)2 Bl ain+1)72 Ch onn=E)}2n+1)0 1N (a+DEn1 106
in. All ogd order eentral muments of 1 pasitively skewed distriburion are
A) Positive B Megative C) Zeee D Any real value

F7. The prohability is .5 that a worker in a factory Is stnoker, The probability is .09 thar a
wurker of the factnry suffors from respiratory problem if he is a smoker, The
prisbability thut a worker selscted randomly is a smoker and abso suffers from
reapiralory problem is;

At 54 B 405 Cy 045 o i

1B, Lel x and » be the vurrent yeor chain base index snd previows year fixed base inden

The current year lixed base index is:
A (3] 10 B) xy L [¥) [{xa ) 1007

A%, L Pand 0} be the quentity and price indices, respectively, withoul multiplication by
11, The valus imdex without multiplication by 1040 2

AYQP B) =P 7 QR0 Dy M)
4, Cireular test is satisled by the index numbgr obtained hy:
M) Laspoves [3) Taasche
'} Fishcr I Geometric mean of price relatives

41, The demand function of & commuodity s p=4-3%", where x ure the number of units in
demand when per unil price is p. The value of x for which the elasticity of demanc
will he unity s
A) 15T B o257 )0 [y 45

42, An investigator has classitied the industries in a region into three mutually exclasive
aroups labelled as amall, medium wnd large on the basis of their sanual Tumaover. The

appropriatc sampling schems o scleet a sample of industrics havinu meleuare
representation of all the three catogorics of industries is:

A1 Simple random  B] Syslematic {1y Cluster 13 Stratified
(4}



The lilhywing data represent the percentages of swidents admitted in different disciplines
in an educational institute:

Discipline:  Artx Science  |Languages Medical Edueation Mathematics Enginecring
Percentages: 10 15 ] iz 0 E K]
There are |44 students in Mathemalics. Answer guestions 43 1o 46 using this inlommalion:

43

ok

. lTotal students in the institute ane;
Ay 1200 Iy [RH) o600 £y 300

44, Ten poreent students in Engincering are from rural arcas, The engincering students
from urban arcas age:

Al 1% By 120 ) 180 12} 162
45, Twenty percent students in science are girls. The aumber of boys in sciepce are
A) 54 B} 270 ) 216 [} &1

46. The ratio of number of students in science to the nember of students in medical in the
sttt is:

A) 9R By 11:42 Ci4:5 o 5:4
47. The standacd erroe of Tiest o natural mumbers is;
AY [t 121" B) fnfnt Di2nt D6 ©) (n'-1)12 D) { (ni-1p2 e

4. The statistical significance of a regression model is tested by a statistic whose
distribution s

A) Badent’™s 1 B) F ) Chi square ) Standard normal

The 1wo regression lines in a simple bivariatc regression analysis are 2x=Jy-2 aml
Sx16v=3, Use this information to answer questions 4% and 50,

449, The valoe of Karl Pearson's correlation coctiiciont 15
A8 By HY )-89 By -3
50, If the standard deviation of X series is 4 then the standard deviation of ¥ series is:

Ay 2.99 By & g 4

(5)



